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( Part-1

10 Write short answers to any FIVE parts.

Write two necessary conditions for a body to
execute simple harmonic motion.

State Hooke’s law. Write 1ts mathematical form.

Define mechanical waves. Give an example.

A wave moves on a slinky with frequency of 4 Hz and Str-c 0.4m 58 g dHz & £ S b3S v F°

wavelength of 0.4 m. What is the speed of the waves?

Prove that: v=1fA

What is meant by pitch of sound? On which
factors does it depend?

Differentiate between pitch and quality of a sound.

What is the difference between loudness and intensity of sound?

10 Write short answers to any FIVE parts.

What is speed of sound through brass and iron at 25°C ?

Why ultrasound is useful in medical field?

Write the laws of reflection of light.

Differentiate between concave and convex mirror.

An object 1s front of convex mirror at distance of 14 cm. L., € 174 &6L 14em 2L, Jgf”/ f) £

The image 1s 5.8 cm behind the mirror, find focal length.

What is the function of gastro scope and bronchoscope?

. . . . 7’ (\/- O
AN
What is the difference between real and virtual 1mage%> @\

What is meant by electric field intensity? Write its/_fg@uia.

10 Write short answers to any FIVE parts/,

What is the difference between electric £ egib;nd electric intensity?

What 1s meant by capacitance? W@é/ unit.

What is the difference betwe&i‘}‘\\\c%acitor and dielectric?

What 1s meant by e.m.f? Write its unit.

How do jewelers identify a diamond to be real or fake?

Define conductor. Give an example.

Prove that: P =

2

Differentiate between A.C and D.C.
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Part — II, Attempt any TWO questions. Each question carries 09 marks.

A pendulum of length 0.99 m is taken to the Moon by an
astronaut. The period of the pendulum 1s 4.9 s. What 1s
the value of g on surface of the Moon?

Define reflection of waves. Explain the properties of
reflection of waves with reference to ripple tank
experiment.

Calculate the frequency of a sound wave of speed
340ms™ and wavelength 0.5 m.

What 1s meant by total internal reflection? State the
necessary conditions for total internal reflection.

A point charge of +2Cis transferred from a point at
potential 100V to a point at potential S0V. What would
be the energy supplied by the charge?

State Ohm’s law.
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Microphone Fax. Telephone Atabile Radio technology is used in:
Machine Phone
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Reaction gases Fusion Fission | to:
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burning the 1 tonne of coal?
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10 Write short answers to any FIVE parts. _é.:.,l,lg Vod L;IZIQ&J/ =2
Define electromagnet. How many polls does it have? ?ugé’_nﬂ{jz LUy 7S c,:z/é’, ) (1)
Define right hand rule. _“é I K5 (11)
State Faraday’s law of electromagnetic induction. LS LI ng ZJ"/ e A (i)
What 1s meant by magnetic field intensity? sl ,U cesl el (iv)
For an 1deal transformer prove that: % =i—" % = I_ Z ._fb'c'_ 62 AT L (V)
What is transformer? Name its types. &b (L'L(LJIJ SIS 7 (Vi)
What is meant by thermionic emission? sl ,U 4:_.‘;’«?/“1 Ly # (vil)
Shortly explain the deflection of electrons by magnetic field. _&& oo ey uﬁ 5§ A 123K el (viil)
10 Write short answers to any FIVE parts. -ﬁayz Vo Lflzlég:_éf 3
Give two uses of cathode ray oscilloscope. . F QUL’;"UJJ:?}J'/’)J;'JILJB;{ (1)
What 1s meant by fluorescent screen? sl Pl c:_@f cods® (i)
What is the difference between A.D.C and D.A.C? ‘e O/VUD.A.C#AD.C  (iii)
What is logic operation? Name different logic operations. _é}té /‘14 TbéU?uggfiﬁ{,T._szu (1v)
gﬁiée ;.S meant by telecommunication? Name its two ] ,&grt ZEinL el e A
What is the difference between data and information? \ Ce O/ St (Vi)
Differentiate between hardware and software. Q\éu LG5 sy sl e, (Vi)
What is meant by procedure in CBIS? Q\\Q Sl ol e Kz FUACBIS (VL)
10 Write short answers to any FIVE parts % i _éﬁayﬁﬁ? L;l‘/.léga.éf 4
What is the difference between cell phone agn@p oto phone‘? S J/ U999 P S (1)
Differentiate between primary and se y memory. ~E O T S Ay ()
Differentiate between atomic nugnber’and atomic mass number. LGS Ao Al (i)
Define isotopes and give awﬁj\\m/ple e gty ST (iv)
Define natural radioactivity. FE A JE (V)
Write down the chemical equation of nuclear fusion. L F eSSt Ay (Vi)
Differentiate between fission reaction and fusion reaction. _29 3 /u‘u"’g 1@05',3;,1&{ IJJJ’; (vil)
Differentiate between stable and unstable nuclei. _E L3O LG F skl (vidd)
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Part — II, Attempt any TWO questions. Each question carries 09 marks.

A power station generates 500 MW of electrical 2 « ) g sl K A500MW J'.‘-b’ ey
power which is fed to a transmission line. What

. . . ) ' . b ." . ;‘ .h- 3 ./ . .‘ = @ o
current would flow in the transmission line, if the s & UG d ?9? Sl {JUU e
input voltage is 250 kV? 250KV & mger Sl pdas S
Explain NOT operation. _ZEeolon ﬁ/“ Tak ()

A step-up transformer has a turn ratios of 1:100. An S 1:100 = Susk ot i o A

alternating supply of 20 V is connected across the 3z blsi2 AL o5t Z20V S SR i, (@) -6
. . . () ]

primary coil. What 1s the secondary voltage . é{ o (V) @J” S 4

Define internet. Describe its services. _éul/.:,wd/w é._.a /‘J..e,w Al ()

Cobalt-60 1s a radioactive element with half-life 226 _ < JU5.25 iy J 60— 2| fgxq 1vh () 7

of 5.25 years. What fraction of the original sample

will be left after 26 years? ?J 4—‘?010!#’ 6 1560 - 2
What are background radiations? Explain. _SE o L, AW P ()
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